Chapter 5 – Level 2					________ / 30 points
Bloom’s Level – Application/Analysis

These 15 multiple choice questions will evaluate your application and analysis level. If you find these to be too difficult, complete Level 1 homework, first.

1) The charts or diagrams in this chapter indicate that the percentage of Altaic language speakers in the world is greater than the percentage speaking ________ languages.
A) Sino-Tibetan
B) Austro-Asiatic
C) Indo-European
D) Niger Congo
E) Austronesian

2) The charts or diagrams in this chapter indicate that the percentage of Austronesian language speakers in the world is greater than the percentage speaking ________ languages.
A) Sino-Tibetan
B) Dravidian
C) Indo-European
D) Niger-Congo
E) Afro-Asiatic

3) The diagrams in this chapter show that the percentage of Sino-Tibetan speakers in the world is less than the percentage speaking languages.
A) Austronesian
B) Indo-European
C) Dravidian
D) Altaic
E) Niger-Congo







4) According to the maps and diagrams in this chapter, the Germanic invaders of England included which groups or tribes?
A) Germans, Normans, and Danes
B) Brittans, Normans, and Welsh
C) Irish, Welsh, and English
D) Scots, Irish, and Welsh
E) Angles, Jutes, and Saxons

5) Based on what you have read about globalization, you could surmise that the main effect of modern communications on social customs has been to
A) preserve folk cultures, by increasing awareness of their uniqueness.
B) stimulate the diffusion of folk cultures around the world.
C) increase the similarity of social customs in different locations.
D) have little effect on the diffusion of social customs.
E) slow the rate of change.

6) Analyzing the maps and diagrams in this chapter, we can see that the branch of Indo-European that includes Ukrainian is
A) European.
B) Balto-Slavic.
C) Indo-Iranian.
D) Romance.
E) Germanic.









7) According to the maps and diagrams in this chapter, the branch of Indo-European that includes Slovak is
A) European.
B) Balto-Slavic.
C) Indo-Iranian.
D) Romance.
E) Germanic.

8) According to the maps and diagrams in this chapter, the branch of Indo-European that includes Romanian is
A) European.
B) Romance.
C) Indo-Iranian.
D) Balto-Slavic.
E) Germanic.

9) According to the maps and diagrams in this chapter, the branch of Indo-European that includes Haitian Creole is
A) European.
B) Romance.
C) Indo-Iranian.
D) Balto-Slavic.
E) Germanic.

10) According to the maps and diagrams in this chapter, the branch of Indo-European that includes Rangpuri is
A) European.
B) Indo-Iranian.
C) Romance.
D) Balto-Slavic.
E) Germanic.


11) Analysis of the maps and diagrams in this chapter shows that the branch of Indo-European that includes Kurdish is
A) European.
B) Indo-Iranian.
C) Romance.
D) Balto-Slavic.
E) Germanic.

12) Analysis of the maps and diagrams in this chapter shows that the Dutch language is from the branch of Indo-European known as
A) European.
B) Germanic.
C) Romance.
D) Balto-Slavic.
E) Indo-Iranian.

13) According to the diagrams in this chapter, Turkmen is part of what language branch?
A) Altaic
B) Germanic
C) Indo-Iranian
D) Romance
E) Balto-Slavic

14) The maps and diagrams in this chapter show that an Indo-European language is chiefly spoken in which of these countries?
A) Bulgaria
B) Finland
C) Hungary
D) Estonia
E) China


15) English is part of which language group?
A) East Germanic
B) North Germanic
C) West Germanic
D) Indo-European
E) Semitic
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